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[35mMULBF> 7 ILR] [35mULBFLTILR]

Rank K % i B Ay HEEHK Rank K % B A v MEEEK
1| B AMbTrvE 413 1
218 B B ®|LET=RITT 289 1
3|8 # B f|7vv77=2s57 202 1
A4+ f |\ A T rE 15 1
4B B & E|REITT =R 15 1

(40U EBFY >~ L] (40U LBFL T L]

Rank K % i = Ay HEAEEK Rank K % B A v MEEHK
1|® BE  ZH|TOY'S Tennis Lab 550 1 1|4 # & A|TOY'S Tennis Lab 413 1
2(2 L B B|F—1LZUF 534 1 21 B & A|WBT=R277 289 1

3|t W B 2|79975=2457 202 1
AlH O 18 2|¥ERETT =2 1pR 15 1

(45U EBF> T ILR] (45U LEBF LT ILX]

Rank K & i B A v HEEHK Rank K 4 [zl A v MEEHK
118 K 8 X(LET7=x777 1107 3 1|E JIl # |TOY'S Tennis Lab 1296 3
2|E )I| # t5|TOY'S Tennis Lab 948 2 2|+ #8  #TOY'S Tennis Lab 1164 3
3[F )il B {E[TOY'S Tennis Lab 871 4 2|%% & $[TOY'S Tennis Lab 1164 3
M | R A i 596 2 4R 1 mlrevrrmzs57 519 2
5| 8 f[TOV'S Tennis Lab 498 1 5|8 i fE K|LiEF=2s77 491 2
6[#k & s[TOY'S Tennis Lab 483 1 6lF H  f&[toY'S Tennis Lab 470 1
T B % EEmT=2s57 154 3 UCE: 3B R 428 2
8l 1B EE|TE AMO/40 149 2 8| )II K& {E[TOY'S Tennis Lab 289 1
9% O MAilzvsrarrar=zssy 145 1 9|/ B % E[IEETC 202 1
10| 4 &K F#H T -one 107 1 10l Il &5 B|l7vy757=2s57 161 1
1MfEA4A KB |79 7522057 18 1 10fE4A KB 7997722057 161 1
12(f8 B {8 Z|rrrvr—vr=zs357 15 1 10|48 & B —|rrrvs-—vrzzs57 161 1
12|/ = & ’A|l7v¥77=2277 15 1 13|m ¥ FForarrzzrara- 15 1

13| 1B | T E AMO0/40 15 1

[50mULBEF> > 7L R] [0 EBEF XTI R])

Rank K % Fr B A v MEEH Rank K 4 i B RA v EEHK
LI+ & = RBTA 753 3 1B X 9 B LET=—2s57 491 2
2| B # =T E AMO0/40 555 2 20 B B E|rrvr-vrzzss7 432 2
3[EAI) ERE|murarrr=2s57 385 2 21y & B|rror-vrmassy 363 2
4 B IE E|erasnierrazssy 247 1 A& B = B|AmEDT= 2R 249 2
5|F E E F|ERT=RIF7 244 3 5(F M mlEwsEGT=xHR 249 2
6|1£ B #X JR|TOY'S Tennis Lab 220 3 518 B K F|rrrvr-vr=zs57 230 1
N+ B m|esszerozps 164 3 7|t B % ®|T E AMO/40 217 2
8| ¥ # 2| TEAMO/40 145 2 8|{& EE K &|TOY'S Tennis Lab 161 1
9|F B K BRRETT =RiBR 116 2 [N & & =[EMTA 160 2
10|88 & 1 |70 k7m0~ 9 1 10| B K B|REHT =% 160 2
10|44 K BB EF|7rvr-vr=2057 9 1 11|EA) B Elpurrrr=2s57 114 1

12|48 F IE (&|=varmavar=zs57 79 1
13| B = =T E AMO/40 15 1




[G5mULEBF> v /L] [G5mUEBFXTILR]

Rank| K % i RA > M EEHK Rank| K % i B A v MEEH
1[F B # F[zvrretrir=zss7 846 5 111s & #RMTA 726 2
20kEE EAdETC 794 3 2[Kk 2 =@M E 428 2
3[F A& FE|rvaroavarmzssy 449 3 [ & 5L E|77vtexryy 383 3
4135 M B E|merroar=xo07 381 2 AlE X JR|7rAv—n—FRTC 269 2
5[0 £ Z AMARHT=RBR 272 2 Slm B & w[—onT 254 1
S|ER B B B|evannirir=2ss7 127 1 5[ & & E[Y—oLT 254 1
7| £ IE #E|rrerovrezos 107 1 7 A &g —|la-Fa2-—53 163 1
8|& B i 2|7y UTIrss7 42 3 8l & E|evrrarearzassy 15 1

9|F B F) B|evarrivar=zs77 15 1

(60U LEBF> 7L R] (60U EBEFXTILR]

Rank K % i RA Y MEAEEK Rank| K #% T A v MEEHK
11 4 K B —|-ws74-r7=2057 5115 4 1188 K — F|EMTA 726 2
217 I & Elevrrerrnr=zs57 379 2 21 4 K s —|-ms75-nr=2s57 684 2
3185 K — ZFE|EDTA 289 1 3[# b B AR T =2 He 372 3
4137 L B IT|ABm T =2 1Be 201 2 AlEiIE f—|7v¥75=2057 310 1
SlEatg #—|7v977=2057 196 1 4lF B |7vv75=2057 310 1
6|ft Wy | E|vvHrr=2s57 51 4 6|7E I B Elevirarrrrzzssy 240 2

[65m U EBF > > /L] (65U LEBFLTILR]

Rank| K % i A v HEEH Rank| K #% B A v MEEHK
e B R|AmEHTF=XBS 353 1 17 B & Z|xmEsT =258 310 1
2/ B F Hlz7avrrr=zss7 215 6 e BB |AmEDT =25 310 1

e B EF|Y—oLT 33 2
3k O Z|Y—oAT 33 2

[70mULBF> > 7L R] [T0EULEBF LT ILR]

Rank| K % i Ay MEEHK Rank| K 4% B A v MEEEK
1)\ & & =||574> k7722257 1752 3 1\ & & E|z71>F77=2257 1084 2
2|8 2 3 {FMARS-T 1389 4 2 2 ¢ |FMARS-T 552 2
3l ¥ R|EMT=RIIT 508 4 3| B —|maEBETT=zBe 310 1
LB B —|EEm@ETT=2Es 18 1 sl @ =[soirrrronsss 310 1

Sl# ) RlEHT=2/77 84 2

(TbmULEBF 7 ILR] [T5UEBFLTILR]

Rank| K 4% B Ay MEEHK Rank| K % B Ay MEEHK
E Il ZFEfzvareivir=zss7 548 4 1| KK E BE|AESRT = 2B 372 3
2[® W R|EEEITY—v 444 1

(80U LEBF> > 7L X] (80U EBFXTILR]

Rank K % i Ay MEEHK Rank| K #% B Ay MEEHK
1T % = BLET=xs77 3554 2
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[45 U 7o L] (45U EZF &7 R]

Rank K % i B KA v b EEH Rank K % B A v b EEHK
12 & = ||Es7)—>~ 363 1
21 B8 & F|L.E.T 254 1
2|k 2B R EAIbTvE 254 1
AlB BB F #EET Y — > 15 1

[50mU LZF> > 7 ILX] [50mULLZF XTIV R]

Rank K % T B A v b EEH Rank K % B RA v bEEHK
188 # = &F|aFeF7=2/57 378 2
1|B R A= T|574> k7722257 378 2
3|4 1L B ZE|TOY'S Tennis Lab 363 1

[55mU L F> > 7L R] [55mULELZF R T ILR]

Rank K 4 i B KA v M EEH Rank K 4 i B A v b EEH
1B & = FIMARS-T 425 1 1k = # F|&ETC 378 2

2 EEF|A—LTTIVR 363 1
3|E X HE #2|FSA 254 1
3| B & A&|FSA 254 1
5lE 8 B F|7vv77=2457 205 1
5|8 AEF| 7997722057 205 1
Tl/NE ZFE{EF[TOY'S Tennis Lab 177 1
7/B & = F|MARS-T 177 1
9|ih H FE Flrvirtr=zs37 143 1
10(BH b CA|dLETC 15 1
11T #8)1 gmAFSA 6 1

[60m A &7y 7L R] [60m A L F & T ILR]

Rank K % T B A v M EEHK Rank K % B A v b EEH
1R & & Fltvvbr=2s57 143 1
2178 B & fglzrrovar=zs57 100 1
(M AL F|EBT Y —~ 15 1

[65mA LT T ILR] [66F U L F & 7L R]

Rank K £ B RA v b EERK Rank K % B RA v b EHEY
I|lx 8 = F|MAbTrveE 505 1 1|#£ 4 K52 FSA 6 1
21 38 m FE|s71vrr7=2057 18 1
2|12 B N — F|evanaqvrr=zs57 18 1

[7T0mU &7y 7L R] [7T0m U L F&TILR]

Rank K 4 B A v MEAHK Rank K % B A v b EAERK
LN S A F|771> k7722057 1969 4 1N\ A Flo71 k7722257 1927 3
2% £ M F|LET=Rs77 348 1 2{BLKk D Fl571v k7722257 18 1
3IBLRK D F|574v k7722257 54 2

[75m U LTy v 7L X] [T5m U L F & 7L R])

Rank K % i B KA Y b EEH Rank K % i B A v b EEHK
112k B = F|574vF77=2257 84 2




